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Choose the correct form of the word:

I. | see three _________ (woman) in the room.

R [ (foot) are cold. Where are my socks?

3. There are a lot of _________ (mouse) in the garden.

6. | like _________ (apple)

S. How many _________ (box) have you got?

6. There are ten _________ (child) in our class.

7. The _________ (fish) aren’t swimming now.

8. How many _________ (pen) have you got?

9. There are many _________ Cbutterfly) flying in the flowers.

10..1 have dlit oF e i (dress).

I, These _________ (cherry) are sweet.

12. There are three _________ (pencil) in my bag.

BMy (tooth) are white.

R (book) are these?

1S. My grandpa and grandpa have got twenty _________ (sheep) on their farm.
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